H1 sensing function measurement: 2019-08-28

He = 3.159e+06 1555103 (ct/m) fee = 41987078 Hz, 7o = 1.9910 258 s

Magnitude (ct/m) x 106

Phase (deg)

3.5

3.0

2.5

2.0

1.5

1.0

model (fit range [5, 1100] Hz) |
©® meas. i

e

.

\'s\

10t

He

102

— 4.218+0'00139

T0.00125 (MA/pm)

} model (fit range [5, 1100] Hz) |
I ® meas. 1

/s

10!

102
Frequency (Hz)

1.100

1.075

1.050

1.025

1.000

0.975

|meas./model|

0.950

0.925 -

0.900

Is

10t

. +0.0258
i2.15225 0286

102

He, Q. = 97.36 435108

103

:_‘}.‘umum

Phase diff. (meas./model)
o
P R

10t

102
Frequency (Hz)

103



